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SAM: AKX A A
M JIGZAINEAMS 2 F1 OE X
Sl FI OH3 22 2 DAY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
IS AKX A & 110,897 258,885 A 147,988
JILEAMNEAY 2 F1 el XI& 85,990 231,170 A 145,180
F1 izl 22 & 0HAHE 17,220 125,780 A 108,560
F1 Ois g2 17,220 103,780 A 86,560
201 Let24dy] 720 81,500 280,780
02 23=2gHl 720 1,200 A 480
OlB222 2 MAll 720
OFl 2& XsXt &IIR3
30,000& = 128 = 204 720
401 Al HIZ 201 I 16,500 20,000 A 3,500
01 A& HI 16,500 20,000 A 3,500
O[Al&Hl] 16,500
OtHg Z1nE FHl ¥ &X
2,500,000& = 5JH A 12,500
OFllizl ss=XE 3 EH
4,000,000& * 14! 4,000
F1 OHal JH=l D18 &4 1,500 35,940 A 34,440
F1 OHal XI& 1,500 6,940 A5,440
202 o4dl 500 1,000 A 500
01 = LH o4 1l 500 1,000 A 500
O=U TUsxIFHal X0
100,000& * 50! 500
203 YR =&l 1,000 1,000 0
03 AIMF=XH R =AY 1,000 1,000 0
OFItHaI X & AP SF=E 1,000,0008 * 14! 1,000
JISTANEAY EE 16,410 17,570 A 1,160
AN 22 29 7,400 7,400 0
201 L4l 5,000 5,000 0
03 &Ar2 I 5,000 5,000 0
OxUW Nd=H 222 24
5,000,000& = 1JH A 5,000
202 o4dl 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OZUW NE=HE =322 0t
120,000& * 5Q1 * 404 A 2,400
JISEANINEAY EL0HH 2l 9,010 10,170 A 1,160
201 ¢er24| 9,010 10,170 A 1,160
01 At 22l 8,820 9,820 A 1,000
O[get=&dl] 8,820




SAM: AKX A A
M JIGZAINEAMS 2 F1 OE X
SR JIGESANLAE B (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIEZAIDHEAY &8 Hu]
2,000,000& * 14 2,000
OEEE ME(HX, BEY S)
1,500,000& * 3& 4,500
OZet ZelHIl &Y 500,000& = 23l 1,000
OEU=20E EE 5 7Y 800& * 4000H 320
OJIGZ Al N Atell = HH
100,000& » 102 * 13 1,000
02 =224l 190 350 A 160
Ol332= 2 HMAl 190
OSES ¢8558 sJIRER
1,900& » 100¢! 190
IS AINE ALY 2435t 46,520 47,540 A1,020
IS ANE A 2t 3| o & A 3,880 4,200 A 320
202 044l 2,880 3,200 A 320
01 = LH o4 1l 2,880 3,200 A 320
OJIZANERE A & 2d&A
120,000& = 42! = 63l 2,880
308 XXM SOl A 1,000 1,000 0
05 HXSHHMAURE = 1,000 1,000 0
O&=JI8EAE2s Haltl
1,000,000& = 13l 1,000
JHEANZFERARS 294 3,080 3,080 0
201 Ler24E] 3,080 3,080 0
01 At 2t 2l 3,080 3,080 0
ol2g=+¢] 3,080
OJUTAZETRARS BlOBA &g
70,0003 = 2291 = 23| 3,080
IS AINEAY =0 2HEA 700 1,400 A700
301 et a = 700 1,400 A700
09 &AL HI B &S 700 1,400 A700
OdZX=, Xl &2 s 22 4 4
i 7,000& = 100¢! 700
22U M Al 2 A AAX AE 38,860 38,860 0
201 Let24E] 10,000 10,000 0
01 At 2t 2l 10,000 10,000 0
Oflget=&tl] 10,000
OIS Al S&& Atell Xt=2 W2
500,000& * 23] 1,000
OZZelMd JIFEAl Bix0ty &2
1,000,000& = 99l 9,000
202 44l 12,860 12,860 0




SAM: AKX A A
M JIGZAINEAMS 2 F1 OE X
el JIS T AINE ALY 2435t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 360 360 0
Oz&dlMd JIgE Al X0
120,000& = 32! = 13/ 360
04 = W&t Bl 12,500 12,500 0
OzZdMd JIgE Al X0
2,500,000& 12,500
301 et a = 16,000 16,000 0
06 212t01= 2| 04 Hi 15,000 15,000 0
O2&dMd JIgEZ Al X0
3 15,000
09 AL HIZ &S 1,000 1,000 0
O2ZdMEAl X0 &It
1,000
JISEA WE - =Y 22l 4,340 4,340 0
JSEA WA - F=EHAS NEEHS 4,340 4,340 0
201 ¢4l 3,800 3,800 0
01 At 22l 3,800 3,800 0
Oflget=&tl] 3,800
ONHA&HSX ¢ 222 &
0,000 » 300H & 1,800
OJILEZAMEXNSY S HHEALX dUH2EX
200,000& * 1000 2 2,000
202 044l 540 540 0
01 = LH o4 1l 540 540 0
OJIYEA HEXNSE XSS
20,000& = 3¢ = 9 540
HE2IAZH (OIS AI XA AIE A) 24,907 27,715 A2,808
Jl= &3l 24,907 27,715 A 2,808
JIEEZAIE JI23Hl 16,847 17,572 AT25
201 ¢er24] 7,367 8,092 AT25
01 At 22/l 7,280 7,768 A 488
Oflget=&tl] 4,500
ORAN2YE SHAHA 4,500,000& * 14 4,500
olgxz] 540
O&=JIedXtZ 45,0003 ~ 123 540
Ol=&Hl] 2,240
ORAN2E SHUAH4 7,008 * 42 » 80 2,240
02 =24l 87 324 A 237
Olz=22 % HAl 87
O=SE2 ¢85 RER3 2902 = 3000HK 87
202 (44l 6,000 6,000 0




2AM: JLZ AR & A A

HH: HH2IIH OIS AR AL A)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

01 2LHOHI 6,000 6,000 0
ORN2E SHH A 20,000& = 491 x 75 6,000

203 PR =&lY| 3,480 3,480 0

02 MRt E R =AY 480 480 0
OFIAINNMAR Y| 40,000& * 128 480

04 ENSIHRE=EY| 3,000 3,000 0
ORANSIELERFAY| 250,000& * 12& 3,000

HEXIEE J23H| 8,060 10, 143 N 2,083

201 L2 A Y| 4,860 5,343 N 483

01 AFR2t2l bl 4,860 5,343 N 483
OlgetLgH|] 3,600
ORNEY SHAHA 3,600,000& = 14l 3,600
Ol2&dl] 1,260
OFRNESYE SHHA 7,000& * 2021 = 90! 1,260

202 0db] 3,200 4,800 A 1,600

01 2LH O HI 3,200 4,800 A 1,600
ORN2Y SHAA 20,000& * 201 = 80 3,200




